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QUESTION 1

Your customer plans to use Oracle Representational State Transfer (REST) API with Oracle Supply Chain Management
Cloud (Oracle SCM Cloud) to support integration requirements. Identify four REST resources and the corresponding
HTTP action available with Manufacturing Cloud. 

A. Work Order Status GET method 

B. Work Orders GET method 

C. Work Order Status POST method 

D. Work Orders PATCH method 

E. Resource transaction POST method 

F. Resource transaction GET method 

Correct Answer: ABDE 

 

QUESTION 2

The Manufacturing Engineer, responsible for creating and maintaining the Work Definitions, has scheduled the Process
Item Structure Changes to Work Definitions program. However, after the execution of the program the engineer did not
receive a notification with the details of the Item Structure changes. Which two reasons could cause this? 

A. The engineer does not have Data access to Items Attributes. 

B. The engineer does not have Data access to Items. 

C. The engineer does not have Data access to Manufacturing plant in which the Item Structure change was performed. 

D. The engineer does not have Data access to Item Structures. 

E. The engineer does not have the Manage Work Definitions function privilege. 

Correct Answer: CE 

 

QUESTION 3

Your customer has multiple distribution centers and a few manufacturing plants. Plants make different items with some
overlap between them in terms of products manufactured. The distribution centers stock parts from all plants. A
Corporate Engineering team is responsible for centrally defining items and catalogues. This team defines the items and
sets the attributes for most parameters. The respective distribution centers and manufacturing plants are allowed to
change some attributes locally. Identify two different ways of achieving this requirement. 

A. Set up Plants as Inventory Organizations, Distribution Centers as Item Organizations, and Corporate Engineering
organization as Inventory Organization. 

B. Set up Plants as Inventory Organizations, Distribution Centers as Inventory Organizations, and Corporate
Engineering organizations as Item Organization. 
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C. Set up Plants and Distribution Centers as Inventory organizations and Corporate Engineering organization as Item
Organization 

D. Set up Plants and Distribution Centers as Inventory organizations and Corporate Engineering organization as
Inventory Organization. 

E. Set up Plants as Inventory Organizations, Distribution Centers as Item Organizations, and Corporate Engineering
organization as Item Organization. 

Correct Answer: BC 

 

 

QUESTION 4

Identify two reports that provide work order cost-related information to the costing user. 

A. Work order Operational Analysis 

B. WIP Balance by Plant 

C. Purchase Variance Summary 

D. Cost Accounting Dashboard 

Correct Answer: AD 

 

 

QUESTION 5

You are monitoring the production status on your shop floor. The production operator informs you that a particular
resource that was not functioning for the past week is now back in operation. Which option shows the steps to quickly
release the work orders affected by this operation, which were put on hold using the mobile application? 

A. Select the infotile On Hold> Select a work order you want to release> Select the work order operation on hold >
Swipe left on the work order name> Tap or click the Release action, and click OK 

B. Select the infotile On Hold> Select a work order you want to release> Swipe left on the work order name> Tap or
click the Release action, and click OK 

C. Select the infotile Unreleased> Select a work order you want to release>Swipe left on the work order name> Tap or
click the Release action, and click OK 

D. Select the infertile Dispatch List> Select a work order operation you want to release> Swipe left on the work order
name> Tap or click the Release action, and click OK 

Correct Answer: D 
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